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HERAB(TILEAL)] B4 TILEA L DIV EMRBER(TILEAL) |
1,500 1,250 1,000 750 500 250 0 (;JQ)\%[/;}ZH’&%#() 0 250 500 750 1,000 1,250 1,500
(E7BE)
SR 0.25 6o
EHMH - BATRBRZE 0.81
E$0) S 0.12 2,359
Eonlo) - ES 0.54 738
H—EXDEZE 1.18
REZOBZE 3.58
BMREDRZE 0.85
HEETREORE 0.52
515 | Wit WERORE 2.09
307 e BHEORZE 432
153 B - BR - SEEORE 0.31 489
EMRABOSEAL) | B AobaAh | s AWRBER (—raa L)
1,500 1,250 1,000 750 500 250 0 (R NS/ REgE %) | 0 250 500 750 1,000 1,250 1,500
(E7BE) ‘
0 |BEMIBZE 0.00 10
578 HFRY - BRATRIBZE 1.18
E$ 0] 0.20 1,166
ARFE DR 1.67 290
1,32 H—E RN 2.90 457
BRROBE 2.92 26
EBMAREDRZE 0.23 13
HEIROBZE 0.40 148
128 R B BEEINOY - E 3 1.83 70
1 |3#5% - SIEOBZE 0.92 12
277 B - HR - OEZORE 0.46 m 608




